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INSTRUCTIONS.

Not more than 5 questions to be atlempled,

1. What do you understand by the terms magnetic field
ad line of magnetic force?

Deseribe, with the aid of sketches, two different 'experié
mental methods of determining the form of the lines of

forge in the neighbourhood of a bar magnﬁ?‘-i marks. |

2. Define specific resistance. _
. . * ¥ ' as .
A wire 1 yard long and 0-02 inch n d]fﬁlﬁfi olf e
itance of 3-5 ohms. Find the specific resistance o
materl_gl of which it is made. [14 marks.]

-' . o 11 and
wa' What i meant by polwrisalion 11 -2 simple ce

hfq‘t lleffects does it produce?

b Seteh 59 he essential parts  icer?
- Drgggj, 1’ 4014 name the essent as depolariser:
Clicg] Primary cell. What acts as deP [16 marks.]
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4. kxplain the loss of vollage inside a cell which is
delivering current.

When a cell of E.M.F. 1:1 volts supplies eurrent to a
resistor of 4 ohms the potential difference between the cell
terminals is .0-8 volt. Caleulate (a) the current flowing;
(b) the internal resistance of the cell.

' [16 marks.]

d. Sketeh and deseribe the working of any form of
ammeter with whieh you are familiar.
How does an ammeter and a voltmeter of the same type
differ in their internal conneetions? _
[18 marks.]

6. The valve filaments of a radio set develop 1-6 watts
when worked off a 2 volt, 60 ampere-hour, acecumulator.
Caleulate (@) the current taken from the accumulator; (b)
the number of hours the accumulator may be used before
recharging. C

If the price of charging the aceumulator is 1/- what is
the cost per kilowatt-hour of the energy used by the valve
filaments ?

[18 marks.|

7. Explain the terms electrolyte, anode, cathode, coulomb.

Given that one coulomb of electricity deposits -000329
grams of copper calculate the steady eurrent which on pass-
ing through a solution of a copper salt deposits 1.33 grams
of copper in 45 minutes. |

' [24 marks.]

8. Explain briefly the modern concept of a flow of
electric eurrent,

Describe, with the aid of a sketch, how a two-electrode
valve acts as a reetifier.
[24 marks.]



